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Math 2423, Test |

September 28, 2005

Show all your work to receive full credit. The use of books and notes is not allowed.
Good luck!

I. (20 pts) Approximate f15 2=>dz with the Riemann sum R, with 4 terms, taking the
sample points to be the right endpoints.

S|
. . DX = T— =
v —X \ < \ X Y !

2
y 2 3 > O




I1. (20 pts) Find the following definite and indefinite integrals

- 2u? - \ \/ |
2 [ = SKU- 2 _ 2u>&». = 72 w ~ux C

b) [v3/i—1dy = _\é SJT,\_ du = {:?‘%_.5\,\ 2'.+C
u= Lﬁq—\ 35
=4 (24— v
M = ?%3‘&*% 2 (24 )

E e

t - v/ 3
2 = —S U= duw =~ S(\,\ = ou "+u’ﬂéu,

o) | A=
—
W= \-X - ~ QUC/L 4 Uz,gll > Lf/?_
T + 4 — oYt
A/L\: "Aﬁ -—,) S—
2 ‘o Y g <l
(\-aN = = -2 0= i‘\s—t\ﬂ-\ - -5(\~X\ +
| \
-2 A\
u=t—-4Y -3 | -3 .
I -\ = X
du =Jde — | + Q 3\ 2
tal u=->



3

I11. (20 pts) Find the area of the region bounded by the curves z+y = 0 and y = z2+3z.
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IV. (20 pts) Find the volume of the solid obtained by rotating the region bounded by
y=+2—1,z=>5and y =0 about the line z = —1.
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V. (20 pts) A cable, 1 ft of which Weighs 2 b, is used to lift 800 Ib of coal up a mine
- shaft 500 ft deep. Find the work done.
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